CGLE- Combined Graduate Level Tier-1, 2018 Examination
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Section : General Intelligence and Reasoning
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Question ID : 98958013107
Status : Answered
Chosen Option : 1
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RANDOM #t 58 &9 & Feag ar seem?
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Question ID : 98958013802
Status : Answered
Chosen Option : 2
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Question ID : 98958013808
Status : Answered
Chosen Option : 1
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Question ID : 98958013820
Status : Answered
Chosen Option: 1
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Ans 1. 256
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Question ID : 98958013811
Status : Answered
Chosen Option : 3
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Question ID : 98958013822
Status : Answered
Chosen Option : 4
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Question ID : 98958013818

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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ans X1 QSZ
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Question ID : 98958013801
Status : Answered
Chosen Option: 3

Q10 zfxSUNFINUSFT F R aar ¥ iR TOP s POTF s A Bmr =TT &, ST FUR F w5 &
HfEH 3w FiT @ gem?

Ans X 1R
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Question ID : 98958013104
Status : Answered
Chosen Option: 3

Q1 & ¢ AT F e TEASE WU H R AT I NG F IS FT

Ans




Question ID : 98958013823
Status : Answered
Chosen Option : 4
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A of1.17
K219
K315
K4 25

Question ID : 98958013810
Status : Answered
Chosen Option : 1
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Question ID : 98958013819
Status : Answered
Chosen Option : 4
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Question ID : 98958013812
Status : Answered
Chosen Option : 4
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Question ID : 98958013814

Not Attempted and
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Chosen Option : -
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Question ID : 98958013804
Status : Answered
Chosen Option: 2
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Question ID : 98958013816
Status : Answered
Chosen Option: 3
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Ans X 1. DARW
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Question ID : 98958013102
Status : Answered
Chosen Option : 4
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Question ID : 98958013803
Status : Answered
Chosen Option : 2
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V2 Tamil (&) : Kerala (33em)
# 4 Bori (&) : Arunachal Pradesh (3®Um=rer 922

Question ID : 98958013103
Status : Answered
Chosen Option : 3
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Question ID : 98958013817
Status : Answered
Chosen Option : 4
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Question ID : 98958013799
Status : Answered
Chosen Option : 1
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Question ID : 98958013821
Status : Answered
Chosen Option : 1
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Ans

16+3-5x2+4=9
v o= 3T x
X 25 Bk -
X3~><3-ﬂT+
x4-+3-ﬂ'{+

Question ID :
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Chosen Option :
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Not Attempted and
Marked For Review
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Question ID : 98958013101
Status : Answered
Chosen Option: 2

Section : General Awareness

Q.1 Aete gee Fi ufaferar & =u #,
Ans o 1 631919

X 214571921

/< 3.871920

X 4.2 9=a8 1913
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Question ID : 98958014411
Status : Not Answered
Chosen Option : --

Q.2 ____ 5 Fad sficionr &Y ugelt afgen worsh off, afek gfar i useht afgen vur=ssh oft off
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Question ID : 98958014418
Status : Answered
Chosen Option : 3
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Question ID : 98958014415
Status : Answered
Chosen Option : 1

Q.4 AAUTe 321 ! foha= widl A dier /T 82
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Question ID : 98958014408
Status : Not Answered
Chosen Option : --
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Question ID : 98958014406
Status : Answered
Chosen Option : 4
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Question ID : 98958014423
Status : Answered
Chosen Option: 3
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Question ID : 98958014399
Status : Not Answered
Chosen Option : --

Q.8 Which of the following plants is carnivorous?
Ans x 1. Cypress Vine

x 2. Hyacinth
X 3. Amaryllis

“ 4. Venus Flytrap

Question ID : 98958014407
Status : Answered
Chosen Option : 1
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Question ID : 98958014409
Status : Answered
Chosen Option : 1
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Question ID : 98958014420
Status : Not Answered
Chosen Option : --
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Question ID : 98958014413
Status : Not Answered
Chosen Option : --
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Question ID : 98958014403
Status : Answered
Chosen Option : 4
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Question ID : 98958014410
Status : Answered
Chosen Option : 3

Q.14 Which of the following is the third stage in the metamorphosis of a butterfly?
Ans 1. Adult

x 2. Egg
x 3. Larva
J 4. Pupa

Question ID : 98958014405




Status : Answered
Chosen Option: 2
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Question ID : 98958014419
Status : Not Answered
Chosen Option : --
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Question ID : 98958014414
Status : Not Answered
Chosen Option : --

Q.17 aiveAreer bl @9 A rfreran gewl Y Tt fora= gidl 82

Ans o 1 350
/X 2.363
X 3.322
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Question ID : 98958014417
Status : Not Answered
Chosen Option : --
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Question ID : 98958014401
Status : Not Answered
Chosen Option : --
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fomar mar ami
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75 2. s

X 3w




o 4

Question ID : 98958014412
Status : Not Answered
Chosen Option : --

Q.20 In economic terms what do we mean by ‘intermediate goods'?
Ans X" 1 Price of goods without GST

x 2. Goods in transit before reaching the consumers
“ 3. Goods sold between industries for the resale or production of other goods

x 4. Fixed assets used by manufacturers

Question ID : 98958014402
Status : Answered
Chosen Option : 3

Q.21 'St i AREY Y TeuTTSR HEX 3T &I ST e gt AT?
Ans X" 113 SHEd 1912
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75 3.20a8 1913
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Question ID : 98958014416
Status : Not Answered
Chosen Option : --
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Ans ( 1. T T
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Question ID : 98958014422
Status : Answered
Chosen Option : 1
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Question ID : 98958014421
Status : Answered
Chosen Option : 3
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Question ID : 98958014404
Status : Answered
Chosen Option: 3

Q.25 urfhear Y it s ‘9 e’ ArTeE aRuRes T wet 82
Ans  of 1 e
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Question ID : 98958014400
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

1 g 2sin?0=3cosh, FA0<0P=90°, & O =2
Ans a1 300

v'2 60°

X 3 45°

X 4 90°

Question ID : 98958013223
Status : Answered
Chosen Option : 2

Q2 G=fafae after § Rftes #est § Rt & dear § sfee it w5t o asft § s
FT gaftar T &1 ReafEet &1 For Fwar 1,800 &1

Ford | volaeandt | o= =l
A 20 4:5
B 18 122
C 14 4:3
D 22 6:5
E 10 253
F 16 9:7
TfE 10% wrsfeat & Feist A T Flole E # TG & f&ar smar § ar siew E & asfaat &r
wiaeraar & e gig e
Ans X 1. 4.6%
v 2 4%
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Question ID : 98958013423

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.3 ww #iter F T F 140% HOF FT GO AT &1 3TET WO haa wiava A0 g s

Ans  of 1.1282.4%
X 2 1382.4%
X 3 274.4%
X 4 174.4%

Question ID : 98958013409
Status : Answered
Chosen Option: 3

Q4 Ffx Bx—1)2+(@x—3)*+ 2x+1)* =3@x— 1)(4x — 3)(2x + 1) e

Ans X 1.
X2
v
x4

o ST % T T I |

Question ID : 98958013221
Status : Not Answered
Chosen Option : --

Q5 o YoEmEr e T (FEiU=) 70km/h B sitEd e F 3Tt & @y 56km/h T stea ity @

T 1 e, siEae wfy oo e e w7

Ans X114
V212
X315
X416

Question ID : 98958013408
Status : Answered
Chosen Option: 2

Q.6 g argat ¥ weiE 710,384 Fr FAd W F T §| IS F v aTg W A F 18% @y
@ & 3 gEdy aeg W 12% & gl grel &1 Rk Y e e TR ST & amaT sruEr @iy g87

Ans X F178 @ity

X 2 T178 =T
'3 T168 &Y

X 4 T168 @iy

Question ID : 98958013404
Status : Answered
Chosen Option : 1

Q.7 o 3vg # 15% 3N 10% & #F g & =15 642,60 F &= ey ¥ 9 7 i o7ew =0 B2

Ans 1. 7880




V' 2 7840
< 3. F800
X 4. %820

Question ID : 98958013402
Status : Answered
Chosen Option : 2

Q.8 3y & s W T 9% TR W F F IV F T THFE A HR WUROT S F A 720.25 F

X W A FT EA?

Ans 1. 2,800
V2 2,500

X3 2,200

X 4. 2,400

Question ID : 98958013406
Status : Answered
Chosen Option : 2

Q.9

Ans =1

Ko —
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2. ==
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X 3
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4
7
&

sin?60° — cos245° + sec60° + cos?40° + cos?50° T AT &

Question ID : 98958013419
Status : Not Answered
Chosen Option : --

Q.10 AABC #, AD mrfeasr 1 AD T G 50 o & fig & 5 AG : GD = 2 : 11 & ar(AABG)

e TR g
Ans X1.1: 5
X21:6
v1:3
X41:4

: ar (AABC)

Question ID : 98958013415
Status : Answered
Chosen Option : 3

Q.11 A ABC #r s/=i% AB = 16 cm, AC = 63 cm, BC = 65 cm &I A ¥ 351 BC % 7w g M &% w=

B W@ AM TR ST g1 AM & a1
Ans X1 245 cm




<2235 cm
3 325 cm
<4315 cm

Question ID : 98958013222
Status : Not Answered
Chosen Option : --

2 afr x—5/x—1=0 ¥ Fﬁ'xz+$ T g

Ans

v 727
X2 729
X 3 625
X 4 731

Question ID : 98958013411
Status : Answered
Chosen Option : 1

Q13 gfy Iehr & Fpw & 18% H JiF @ T § 3R P AT I T & Faw 12% F & I Faw
e & A W s mee # o wfea & w5 A 2 (Guees ¥ T T aw wED

Ans

X 1.5.3%
X2 6%

v':51%
X 4 5.6%

Question ID : 98958013403
Status : Answered
Chosen Option: 1

Q.14 qﬁ;a=b=4=5 §,a}(2a+3b)

Ans

X110:9
X222:23
X39:10
v 23:22

: (3a +2b) SUET T

Question ID : 98958013405
Status : Answered
Chosen Option : 4

Q.15 forelr e & 50 faeanfiat & sitww aie 64 @l oy & ReafEat & e 83 3kt 24 & T W e

Ans

T FeT: 38 3T 42 = g arv €, & ' iww F=woEehe

v 1 6454
X2 61.24
X 3 61.86
X 4 62.32




Question ID : 98958013401
Status : Answered
Chosen Option : 1

Q.16 AABC~AEDF 3T AB = 5 cm, BC = 8 cm, @ AC = 10 cm &1 Tf& ar (AABC)
¢, o DF frms o= gFm?

Ans 10

1.

X3
32
2 alE

X2

v
K4 =

cm

cm

cm

cm

:ar(ADEF) =9 : 4

Question ID : 98958013416
Status : Not Answered
Chosen Option : --

Q.17 et afeer & fftes Fest § feafiet & den & e it ag o @t & sgoa

Fr g ar &1 RemfE #r For Fwar 1,800 §

Fored | volaeanedt | o=k sl
A 20 4:5
B 18 1:2
c 14 4:3
D 22 6:5
E 10 2:3
F 16 9:7

C

Ans X1 43
v 2 67
X 3 45
X 4 37

: 67
: 104
: 7
: B

Fost A T B # asw At sl #1 a0 5507 F1 aeas Fw §e

Question ID : 98958013420
Status : Not Answered
Chosen Option : --

Q18 gfra+b+c=11 3 ab+bc+ca=38 ¥ ar a® + b*+c*—3abc T &

Ans X1 44
v 77
X 3 55
X 4 66

Question ID : 98958013412

Not Attempted and
Marked For Review

Chosen Option : -

Status:

Q19 #fr -2 $r TEIT 612904, TEAT 88 ¥ Fasw ¥ A x F I @em

Ans




D g1 -1 00

Question ID : 98958013399
Status : Answered
Chosen Option : 4

Q.20

afe tand =

Ans i

1. —

J 2

2

2. —

x 5

3

3. —

x 5

1

4. —

x 4

3 %} (__n_ 4 sinf—cosd m IET 3;’7"_?

4 4 sinf+cosd

Question ID : 98958013418
Status : Answered
Chosen Option : 1

Q21 el afeer & fftes Fest § featiet & dwn & e it ag o Tt F sgoa
Fr g ar &1 RemfEE fr Fer Fwar 1,800 &

Ans

woa | wlaemet | s s
A 20 4:5
B 18 1:2
C 14 4:3
D 22 6:5
E 10 2:3
F 16 9:7

FEF AN TSR T T FE & A IS F Sfed R wies 7 798 A 87

5.
X 2
v &3
X 4

Question ID : 98958013422
Status : Answered
Chosen Option : 4

Q.22




e aftm & Rftes Fost # fGefint & Tew 5 vfwe i Tgat & =i 5 e
Fr g T §1 ReafEE & ger = 1,800 &1

Ford | volaeanedt | o= sl
A 20 4:5
B 18 1:2
C 14 4:3
D 22 6:5
E 10 2:3
F 16 9:7

Fiost D, E 3t F # wsfa #f oo Fw=r &1 sfowa free 37 (ee & & T a9 §g)
Ans 1. 48.1%

V2 47.9%

X< 3 48.3%

X 4 48.5%

Question ID : 98958013421
Status : Not Answered
Chosen Option : --

92 38 (42+07%X3)+5%x2+05 F A &
Ans X1.998

X2 184

v'3 58

X 4 15.6

Question ID : 98958013400
Status : Not Answered
Chosen Option : --

Q.24 Ry O &g a9 g0 & =a@ AB ¥ 3R CD 37 g & sfar (chord) & @ ABCD @deiw w=ra 21
afy £BAC =15° &, 9r £CAD fras awet gem?

Ans 1 30°
X 2 75°
X 3. 45°
v 4 60°

Question ID : 98958013414
Status : Not Answered
Chosen Option : --

28 AW x+>=V5 B A+ WRE:
Ans X14‘V!§

X2 3¢5

V'3 245

X 4 54/5




Question ID : 98958013410
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1
Ans

Select the correctly spelt word.

x 1. perticular
x 2. particuler
J 3. particular

x 4. perticuler

Question ID : 98958012716
Status : Answered
Chosen Option: 1

Q.2 Select the most appropriate synonym of the given word.

Ans

REPUDIATE

x 1. enforce
75 2. sanction
x 3. regret
o 4. renounce

Question ID : 98958012709
Status : Answered
Chosen Option: 1

Q.3 In the sentence identify the segment which contains the grammatical error.

Ans

On the way he was bited on his toe by a poisonous snake .

x 1. On the way
( 2. he was bited

x 3. on his toe

x 4. by a poisonous snake

Question ID : 98958012694
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate meaning of the underlined idiom in the given sentence.

Ans

Extreme poverty made the poor woman wonder how long she could keep the wolf from the

door.

x 1. live on charity

X 2. keep wild animals away

( 3. avoid starvation

X 4. be safe in her house

Question ID : 98958012713
Status : Answered




l Chosen Option : 3

Q.5 Select the correct passive form of the given sentence.

Have they announced the world cup cricket team?

Ans x 1. Have the world cup cricket team announced?
x 2. Have the world cup cricket team been announced?
x 3. Has the world cup cricket team being announced?

J 4. Has the world cup cricket team been announced?

Question ID : 98958012696
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

It is convey to all the residents by now that they are required to apply for parking stickers.

Ans x 1. It will be conveyed to all the residents

( 2. It has been conveyed to all the residents
X 3. It is conveyed to all the residents

x 4. No improvement

Question ID : 98958012699
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate antonym of the given word.

SEVERE
Ans X" 1. mediocre

x 2. meticulous

x 3. morose
o 4 mild

Question ID : 98958012710
Status : Answered
Chosen Option : 4

Q.8 Select the correct active form of the given sentence.

You will either be taken prisoner or shot by the enemy.

Ans x 1. The enemy will be either taking you prisoner or shooting you.
x 2. The enemy would either take you prisoner or shoot.
J 3. The enemy will either take you prisoner or shoot you.

x 4. The enemy either takes you prisoner or shoots you.

Question ID : 98958012697
Status : Answered
Chosen Option : 3

Comprehension:




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Portia claims that even if she (1) to live as long as Sibylla, she would die as (2)____as
Diana because she can only be claimed (3) the manner specified by her father's will.
She (4) that nobody would be able to crack (5) casket test and so she was bound
to remain unmarried.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank No.1.

Ans " 1 has
W 2. were
x 3. was
X 4is

Question ID : 98958012701
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Portia claims that even if she (1) to live as long as Sibylla, she would die as (2)
Diana because she can only be claimed (3)_____ the manner specified by her father's will.
She (4) that nobody would be able to crack (5) casket test and so she was bound
to remain unmarried.

as

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank No.2.

Ans & 1. clear
x 2. real
25 3.plain
o 4. pure

Question ID : 98958012702
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Portia claims that even if she (1) to live as long as Sibylla, she would die as (2) as
Diana because she can only be claimed (3)____ the manner specified by her father's will.
She (4) that nobody would be able to crack (5) casket test and so she was bound
to remain unmarried.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank No.3.

Ans X1 at
v 2in
25 3.through
X 4. from

Question ID : 98958012703
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Portia claims that even if she (1) to live as long as Sibylla, she would die as (2)_____as
Diana because she can only be claimed (3) the manner specified by her father's will.
She (4) that nobody would be able to crack (5) casket test and so she was bound
to remain unmarried.

SubQuestion No : 12
Q.12 Select the most appropriate option to fill in blank No.4.

Ans x 1. will worry
X 2. has worry
x 3. worry
( 4. worries

Question ID : 98958012704
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Portia claims that even if she (1) to live as long as Sibylla, she would die as (2) as
Diana because she can only be claimed (3)____ the manner specified by her father's will.
She (4) that nobody would be able to crack (5) casket test and so she was bound
to remain unmarried.

SubQuestion No : 13
Q.13 Select the most appropriate option to fill in blank No.5.

Ans X 1 an
o 2 the
X 3.one
X 4a

Question ID : 98958012705
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option to fill in the blank.

| was frustrated at not being able to
Ans X" 1 devoid

X 2. depose
« 3. dispose
X 4. deal

of my old car.

Question ID : 98958012718
Status : Answered
Chosen Option : 4

Q.15 Given below are four jumbled sentences. Select the option that gives their correct order.

A. Soon, flames ignited the wooden beams of the grand palace built by Xerxes.
B. Men and women holding aloft flaming torches, raced up and down the palace terraces.
C. When the fire died out, all that remained of the magnificent palace were the stone




columns.
D. Looters fought off the heat of the inferno to drag out gold and silver vessels.

Ans X" 1 ADBD
75 2.coBA
o 3.BADC
75 4.BCAD

Question ID : 98958012707

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.16 Select the word which means the same as the group of words given.

One who helps a person in need
Ans X" 1 mercenary

x 2. veteran
( 3. samaritan

x 4. collaborator

Question ID : 98958012715
Status : Answered
Chosen Option : 3

Q.17 In the sentence identify the segment which contains the grammatical error.

Supriya asked Kiran that where had her mother gone when the results of the contest were
being declared.

Ans J 1. that where had her mother gone
X 2. when the results of the contest
x 3. Supriya asked Kiran

X 4. were being declared

Question ID : 98958012695
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate synonym of the given word.

LAMENT
Ans & 1. afflict

J 2. mourn
x 3. torment
x 4. distress

Question ID : 98958012708
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate antonym of the given word.

PRUDENT
Ans J 1. indiscreet




/<5 2. judicious
x 3. tactful

x 4. practical

Question ID : 98958012711
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate meaning of the underlined idiom in the given sentence.

The ambitious project to impart free books to all students ended in smoke.
Ans J 1. yielded no result

x 2. was delayed
x 3. exceeded the budget

x 4. was successfully completed

Question ID : 98958012712
Status : Answered
Chosen Option : 1

Q.21 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

The world's agricultural land are in pressure to raising more and more crops.

Ans J 1. land is under pressure to raise
x 2. land is under pressure so raising
x 3. No improvement

x 4.land is at pressure to raise

Question ID : 98958012698
Status : Answered
Chosen Option : 1

Q.22 Select the most appropriate option to fill in the blank.

The owner of the house was at the watchman for letting in a stranger.
Ans X" 1 impatient

x 2. indifferent
J 3. indignant

x 4. indulgent

Question ID : 98958012719
Status : Answered
Chosen Option : 2

Q.23 Select the correctly spelt word.
Ans x 1. acommodation

x 2. accomodation
J 3. accommodation

x 4. acomodation




Question ID : 98958012717
Status : Answered
Chosen Option : 3

Q.24 Select the word which means the same as the group of words given.

Sole right to make and sell some invention
Ans X 1. copyright
x 2. inheritance

J 3. patent

x 4. heirloom

Question ID : 98958012714
Status : Answered
Chosen Option : 3

Q.25 Given below are four jumbled sentences. Select the option that gives their correct order.

A. It was very unusual as boys were not supposed to be out of school at this late hour.

B. He moved closer to the boy in anger so that he could recognise the miscreant and punish
him.

C. He felt angry as teachers ought to be about school rules being broken.

D. Mr Oliver, the school teacher saw a lonely boy sitting on a rock, weeping soundlessly.

Ans X" 1.DBAC

/< 2.ABCD
75 3.ACBD
o 4.DACB

Question ID : 98958012706
Status : Answered
Chosen Option : 1




